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Direction : Answer the following questions by selecting the most appropriate option.

1. fefofed & & $9-@ daq @ e
B Ay 727 & ?

1.

Which of the following is not a child
centered method of learning ?

) LEN] (1) Demonstration
@) 8 T o (2) Field Trip
(3) BB &) Programmed Instruction
(4) RIS g : (4) Project
2: afﬁ'&‘lﬁ & Gﬁ}‘[l{u' ' HaT g 2. According to McDougall, the emoﬁon
i ? of 'disgust' is associated with which
T yafl & Y ISl A © . of 'disgust
ﬁiﬁf 92) JEIT basic instinct ?
) @ R (1) Repulsion 2§ Escape
@ % @ (3) Combat (4) Curiosity
S, T & 'ﬂﬂiﬁm Rer & @8t 3. Select the correct sequence (top to
= Dbottom) of hierarchical intelligence

@) T FF L Y@ FF
g FH — AR wREH
4) PP — THNY FREH —
% HRH — TG IH '
4. g% 3 giv § PefRed 7 @ B
FT g9 T8 87
(a) HfEF RFE TR STgalReD &
TG G &, ATaaxel i S|
(b) % P RRe® R @
HROT &l &
© @ &, Gr EEtE B
uREras Bl B
(d) TN oRRefd & guriee
Irgar 3 2
T& H H TG P
(1) @ @@ (b) (2) (a) W@ (c)
(@) (b)) W (d) (4) (c) W (d)

[ Level-3/5321])

theory of Vernon :
(1) General factor — Specific factor
— Major factor — Minor factor

M Specific factor — General factor
— Minor factor - Major factor

(8) General factor —» Major factor —
. Minor factor — Specific factor

(4) Major factor - General factor —
Specific factor — Minor factor

Which of the following statements
regarding intelligence are nof true ?

(a) Intellectual development is
influenced by genetics, not
environment.

(b) Gender differences do not
cause intellectual differences.

(c) Sharp intelligence is a sign of
sharp memory.

(d) Intelligence gives the ability to
adjust in new situations.

Choose the correct code :

A1) (@) and (b) (2) (a) and (c)

(3 (b)and (d) (4) (c)and (d)

@ PLT. 0.
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@) |’ s, wftvEs, T o
TS B gewi g s R
(4) € W9 T B R Repg
% g w2
s.maﬁéﬁw-mmqﬁw
TF 3 Rfwa 76 & ?
() T9H7 3 Frafgar
() §HE Tl ) oghy
() qE? FH FhE 7 fEE
(4) a0 MyF Syahy 3 g9

. @ # ReR § gem o @
FYET T F T D
?W,Fﬁﬁ%%mﬁmaﬁ_qﬁamﬁﬁ

? .
(1) Ig sIfF & e

(2) 9rgeEar F 99
(3) & FSaar H 9

(4) TrEEaes RO # 9y

g. Toeill F==I # Gewd Bg e
Z HE-g e genyd R o

THA & 7
e

M) @ @ @
@) (b) T (c) _
@) (2), (b) T (d) .

4) (a), (b), (c) T (d) ' f

el-3/5321]

5. Which of the following is not‘ a
of inclusive

characteristic

education 7 .
(1) It suppgfts gpecial ecducational

needs ¢\ ;
(2) Itsays ﬁ@ celebrate diversity

()
(3) This ensures the participation of
teacher, parents, child and society

It is limited to the special
education of disabled children

6. Which of the following is not a
feature of continuous and

comprehensive evaluation ?
(1) Regularity of assessment

(2) Frequenpy of unit tests
(3) Diagnasis of learning gaps

ﬂMeasuﬁ}lg only scholastic
: achiev&,‘nent

Z. In a learn@'g situation presenting
relevant facts separately from non-

relevant facts, is indicative of which

principle of learning ?
(1) Principle of multiple response
(2) Principle of analogy

(3 Principle of prepotency of

elements
(4) Principle of associative shifting

- 8. Which tests can be administered
by the teacher to identify creative

children ?
(a) Figuregpnstruction test

(b) Produﬁ}mprovement test
(c¢) Usual uses test
(d) Picture@ompletion test
Choose the correct code :
(1) (a) and (d)
(2) (b) and (c) .
(8) (a), (b) and (d)
A% (a), (b), (c) and (d)

-
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13.

14.

15.

(4) "R
e 3 R s

Fr=fofeg & § @9
m%wﬁ?%m
H TH I 75 F 7
(1) =& gq

(2) Tt e Rdrgans @
(3) fecitas e Rydrans ‘
(4) 9999 7Yy

TS el § g3 & g4y §
HA-H e ggh d ?

(1) o T g

(2) siEREE o gmeTm

(3) ARG wd ergfrET
ORFEECRC i

frefoied & & F9-a@ dfe qeroraget
frard Aferp oraral § afuf 78
T =feT ?

(a) O qHE

(b) [T Teey Rvg-aeg

(c) Eieas Emias qrfes

(d) freer @t qaird sifgfy
T&l T H T4 i

(1) (3 T (b) (2) (a),(c) @ (d)
@ (0 @@ @ (), (b) @ (c)
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12, Which of the following is not 3

helpful action of teacher _in promoting

socialization among children ? '
Giving the individual project
work g

(2) Assigning social responsibilities

(3) Organizing co-curricular
activities

(4) Motivating for
particigation

social

13. Which of e following is not an -
example of-developmental changes
under acqﬁi%ition of new features ?

\Q«)/Permanent teeth

(2) Primary sex characteristics
(3) Secondary sex characteristics

(4) Thymus gland

14. Which optig\:in is correct regarding
emotions igl\early adolescence ?

(1) Intensér*:and rational

(2) Unconfrblled and rational
\(3) Uncontrolled and irrational

(4) Controlled and intense

15. Which of the following gender
biased actions are nof to be
involved in educational practices ?

(@) Homogcéneous grouping
(b) Gend eutral content
(c) Stereotyped
guidalJ@e
(d) Teacher's prejudiced attitude
Choose the correct code :

(1) (a) and (b) ™27 (a), () and (d)
(3) (c)and (d) (4) (@), (b)and ()

occupation

a dﬁg
T
P gl

aam
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16. o= Wy WY B sfmeaiel @
e el B B0 iy SugE
TR A
() s Hi WX R s
(2) F9 & & @S F 3

(3) F ST B S w3
(4) Rrer-arftem fEmedt Sfea e

17. Bgs 3 TarE Tewm e 3

ST §
(1) [T o@er  (2) T orERe
(3) ST ¥ (4) STHHK TR

18. g™ & dmeas faag e 3
. e ST 79N S et
% 9= SR dema s

@ ¢, @ 98 HiE deandl ©

(1) FHESHTT
(2) STTCEETHBT @

(3) TR
(4) THHTT

19. R & g9y Suaky SR ST
H GAFT B B, HEd @l
Fafy & ofd H JTRmhleqd  qeAH
el & '

(1) drEd & B

(2) fem & foT geared

(3) diaq & form e

(4) ITER 3 [Q qedidd
[ Level-3 /5321 ]
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16. Which strategigs of learning is not
appropriate BQJr the learner of
senior seconddry level ?
\._/m Learning [tmasks at memory level
(2) Allowing(‘) self-discovery  of
knowledge
(8) Giving appropriate space to
classroom interaction
(4) Student

learning
(o)}

17. According to r%'—’yeud‘s psycho-sexual
=" development-theory, the stage in
which adoledebnt attracts towards
opposite sex, is known as :
Mhalhc stage (2) Anal stage
enital stage (4) Latency stage
o \;%)/G ge (4) y stag
18. According to Piaget's cognitive
development theory, when the
learner maintaining a proper balance
between himself/herself and his/her
environment, this mechanism is
called as :
(1) Accommodation

(2) Assimilation
(3 Equilibraon

(4) Integratidp)

r~
19. When the as$éessment is designed
to evaluate student's overall
achievement and proficiency at the
end of a learning period is known
as:

Mssessment of learning

(2) Assessment for diagnosing

centered teaching-
N

(3) Assessment for learning
(4) Assessment for remedy

P: T:O
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20. ‘e W W un Ry Pupt s 20. 'A disorder of writing ability in Which
BoauT P, gl e aeeg a learner has difficulty with letter
gl M 0N ,
wit A st A Y om R formation, spelling, fine motor
HEE B : co-ordination e?a This disorder is
called as : l{:’
() R=fag (1) Dyslexia O
(2) Eenfm - (%) Dysgraphia
fad
(3) fEafEm ey (3) Dyspraxia

(4) fewehemfomn (4) Dyscalculia :
21. Bt 3 N Rem e @ 21. Match the following stages of

z‘zﬁ‘f@ﬁ HIEA B IR ﬁﬁ‘lﬁﬁf Kohlberg's moral development
™ q AR i§[i3|q : theory with their characteristics :
mw ferswar Moral Stages ﬁ Characteristics
ORSEL I ol IO TR ar () Conforming @) (i) Getting the approval
T e obtainreward €N . of others
(o) I e (i) '@Té‘lﬁ QT e (b) Maintaining socigh~ (ii) Stage based on self-
T TE@= T A I order (@) interest
(c) @@ RS (i) FAFT T A (c) Good interpersonal (i) Eternal value accepted
SN M e relationships by conscience
@ FARE  AE wEE @ e A (d) Universal ethical (iv) Importance of justice
frar e principles and law
‘73?? & TG99 FIY : ~ Choose the correct code :
(_a_) (}3) @ @ @ ® @ @
O G WG G W v @ i)
(2 (J_Ln) (g. (}l) _(iv) @ @) @, @ W
3) (fV) (111) (1) (i1) 3 (@(v) (@ @) (i)
@ @ @) v () @ O G Gv i)
™M
22. washt fwn ﬁﬁm HEGHA ATy 22. Which constifutional right of
T % H GG SRR # W | = children with special needs does
B T 7 inclusive education protect ?
(1) farer &1 arférm \ﬁs@gm to Education
(2) THE # T (2) Right to Respect
3) aﬁ?fﬁ‘f P HAfeHT ' (3) Right to Acceptance
(4) THIHT T AT (4 Right to Integration
[ Level-3 /5321 ] ' a1
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:
5
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Praffd ® @ 99-0 dig gt
f g R 7@ R ?

() ¥ IRF &7 A o Ry ¥
@) ¥ TR & i A ¥
@) 3 MBI & o an ¥

(&) ¥ TTERE § O TR W ¥

24, TF B WS AH R B
AU H B9 ¥ FaRed HT
(@) TR A TeIeiHoT
(b) FIER FH YFsaH
~ (c) AR H BRI
(d) BT & fhares qiorfe
7el BT H =TI HIT ¢
(1) (@), (), (), (b)
(2) (b), (a).ﬁ), (@
3) (c), (d), (@), (b)
@ ®), cc).&ﬁ) @.... .
25. [faReEd ﬁ T A aqr@-q'fﬁ*lw q
TN 787 e ¢
(1) sf¥mmar - (2) e
(3) dam - (4) SRR
26. e & § -9 Fo Jokks
Rrar & dey F @@ 78 ® 7

(1) Jafaes Ntan sTHeTs e R
At = & el B

(2)%1:% (i SR £ S 1 < K <
rairmirqsm%:
(&W%::nwwwm

® g, Afw ammE

@)
@)mfﬁﬁﬂtﬁ 'ﬂsﬁ
919 g 2 s

2
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23, Which of the following is not a

24.

25.

26.

common characteristic of deprived
children ?

\MThey look physically challenged
(2) They are socially disadvantaged
(3) They are economically deprived
(4) They feel emotionally inferior

Arrange the steps of Bandura's
social learning theory in sequence :
(a) Perception of behaviour
~ (b) Reinforcement of behaviour
(c) Remember of behaviour
(d) Convert the memory into action
Choose the correct code :
AN @, @, @, ®)
(2) (b), (@), (), (d)
) (0), (d), (a), (b)
(4) (b), (), (d), (@)
‘Which of the following
influenced by heredity ?
Aptitude  *(2) Attitude
(8) Emotions (4) Interest

is not

Which of the following statement is
not correct regarding individual
differences ?

(1) Individual differences exist In
both cognitive and psychomotor
domain. ' -

(2) Species characteristics influence

individual differences.
The cause of individual
differences is the social
environment, not the physical
environment.

(4) Age also has an effect on
individual differences.

P10
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W (R=) o& o) / LANGUAGES (HINDI & ENGLISH)

R=A (HINDI) s

PRt : Pt 51 3 S0 23 & e et o e g

31, R B TR A o R g
(1) T - RF,
(@) ATRE - AHIRE
(3) Faha - fNepd®
4) WS - TS

32. I ¥ ggR G- gt ¥ g
ﬁﬁqﬂwﬁm:

(1) FEAH S T T61 @
2 - Tt

@) frsfrer rrh?—ﬁhgﬁ s i
Gﬁv"tﬁﬁﬂf o2}
@R e Fde Rt a=
ﬁm%gﬂ%ﬁ%m
(4) To-FEHE 96 o0 fow o @
T - o e |
33. Ui $ @ adwaet & dwl
(1) I - U, Hgd, FagEl
(2) ® - o, Hgd, gagEl
3§ - e, T, SN

(4) o1 - 999, fagq, SrgREl
N

4. RO oo B Ghre Rdwwed 3
giafea 7 @ g A
(1) A F T ¢
(2) o fawerer & Rt @ 99
@y Bl A ) Rt st

(4) faren qur IwfeEr

[ Level-3 /5321 ] 2
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35. f5g Ry # weie fagor @
ST 78T g & 7
(1) B wRem R, 98 @A @
o |
2y TE GRS
3) 0 | | F e 79

& o R afverde: T g @ B
Reomr 3 o s &9 #1 Ok R @
A4 & W & F T T &
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@)
37. refaiad & ¥ f9-1 399 g2 ?
(1) 739 A 99 wgfEl T B A
Qﬁﬂéﬁﬁﬁﬁgl

2T w wHe g9 % A
EECRERIG R

() AT H= g 7 s B

(4) o seagdiadia 2 2

38, P T FHTE ?
(1) A F sfe)w sratee @eg @
g Bl
~2f T T R g T9e R
T R
@) T4 I Riew A wH-gwR @
Fd B Bl
(4) aRfes @I § w7 ox R
TEY L B
o)

39. TATT RS AR :
(1) 54 I8 GHRY 2N -
B T T T @@ ek
Frerdrid i
(3) 919 IFH THEHR BN
(4) ¥/ T8 YU F I57 8

B

41, P # § A9 9Ed H SR
TR
(1) Sfd @9 ofiX fq Jem AT
(2) @Y F TEd faehidd B
(3) g T | TG B HEE B
WFd m e e FEE T
T '

42, 59 FHw # SuEl - foMeE
FrREER & ?
(1) 3TR¥rE, STy, aTaf - ‘AT I

(3) OIS, MEqSH, YH - ‘3
il S

< (3) Fregen, g, freer - g Soe

(4) =a1ey, digor, s - A IuE

43. Fffad & 9 g 9= o
(1) Hegr |, SR, Qe

L2y ey, ey, ferenfaRe)
(3) o, e, Mol

(4) A, RO, ST
44. T W gfte § G e g
) ﬁg(, s, T - ‘o T
? E%ﬂ, aéﬁ - ‘Uﬂ" gy
(3) Y, ®WEE, A - SEe
e
(4) B, Ao, P - @ T

45. TG B o ¥ g7 P o -
(1) T - IRA 75
(2) RS - TqgAe
(@) SR - AR g P
S R - T TG
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m; jENGLlSH el : 3 tHin the most apptopl’iate option.
. . Answer he following questions by gelecting D omegranate.

é iaiank with the correct

option : %
d's arammar i an instance

R grammar.
(1)-4'miversal (2) cognitive
{é) descriptive (4) prescriptive
' ™~
47. Fill in the blank-with the correct
option : 2 !
Teaching learneys 10 discuss a
poem in English~1n their native
language is an ikstance of the use
Of covvnnvnene .
() evaluative comprehension
@) multilingual 1esources
@3) pre-reading skills
(&) Tirst language acquisition
Direction : (Q. No. 48 to 57) : Read the
following poem and, answer the
questions that follow :

Mother, I am the one

N
you sent away ™
when the doctor told yoB

I would be

a girl —In the end they had to

give me an injection to kill me.

Before I died I heard

the traffic rushing outside, the monsoon
slush, the wind sulking through
your beloved Mumbal -

I could have clutched the'neon blue
no one wanted — N

No one wanted N
To touch me —except Igér in the
) autopsyroom
when they knew my mouth would not
search
for anything ~ and my head could be

o -measured
and bent cut apart,

[ Level-3/5321] .;Eﬁ

[ Tooked like a sli

The fruif you never touched.
Mother, | am the one you sent away
When the doctor told you .

[ would be a girl = your second girl.
Afterwards, as soon as you could ’
you put on your grass = green sarl=
the orange stems of the parijatak

blossoms
glistened in your hair —
Afterwards ,
everyone smiled. - i
But now I ask you %

to look for me, mother,

look for me becaus€

[ won't come to you in your dreams,
Look for me, mother, look

because I won't become a flower

I won't turn into @ buttertly

And I am not a part of anyone's song-
Look, mother,

look for the place where you have
| ' sent me.
Look for the unspeakable.

for the place that can never be described.
Look for me, mother, because

this is what you have done.

Look for me, mother, because

this is not 'God's will'.

 Look for me, mother

because I smell of formaldehyde —
I smell of formaldehyde
and still, I wish you would look
for me, mother. :
48. Who does the girl address ?
(1) the doctor (2) the society
(8) the father _(4) the mother

PER
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49. In which city does the foeticide
take place ?
(1) Delhi (2) Chennai
() "Mumbai (4) Pune

50. What does the killed infant smell
of 2
«(1) formaldehyde
(2) parijatak
(38) chlorine
(4) slush

51. Who is "I" in the opening line ?
(1) the poet
\(«Z)/ the killed infant girl
(3) mother
(4) the doctor

52. Fill in the blank with the correct
option :
According to the speaker the
mother disliked .......... ;
(1) oranges
(2) parijatak blossoms

3y pomegranates
(4) the grass-green sari

53. Find a word from the poem which
means "post mortem" :

(1) formaldehyde

(2) injection to kill @

(3) neon blue

A autopsy
54. Why was the infant in the womb
killed ?
(1) because it was defective

(27 because the mother didn't want
a second girl child

(3) doctor's mistake
(4) it was ugly

55. Which one of the following is used
as a literary device in the poem for
effectiveness ?

(1) repetition (2) climax

(8) irony . (#) metaphor

56.

51.

58.

59.

60.

52

Fill in the blan
option : :
" looked like a sli
is an examp\%e Of ivisaersnenis ;
(1) metaphar o

an impﬁ}d simile

i (48]
(3) ixony L/
(4) simile )

k with the correct

ced pomegranate"

Find the word in the pgem w}:ich
means "shone due to being wet". -

(1) glistened
(2) sulking

5(3)/ clutched

(4) blossom

Fill in the blank with the correct

option : ;

The twoc‘_j kinds of listening

- [ ] ay -

(1) active and passive

(2) skimmillg and scanning
intensiye and extensive

(4) referential and inferential

Fill in the blank with the correct
option :
............. skill involves training the
learner to listen for the English
speech sounds including stress
and intonation patterns.

) listening (2) aural-oral
(8) reading (4) writing

Choose the correct option :
Assertion A : The disadvantage of
print material is that it lacks
interaction ‘and the use of audio-
visual elements.
Assertion A : Print materials are
not portabilé, not easily available
and are nof¢ost effective.
(1) Aistru€; Bis false
(2). B is true; A is false

) Both A & B are true

(4) Both A & B are false

[ Level-3 /5321 ]
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Qe TS [ GENERAL STUDIES
- ayfreptar dar ar S ud S / QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS
'ﬁmﬁiﬁamﬂ$maﬁ%mwﬁaﬁaﬁmgﬁm
ng the most appmpriate option.

pirection : Answer the following questions by selecti

o1 w10 Rl @ e ¥ v 61. Rekha walks 10 km straigrlxé ind
| TEH 10 Bl et B B ' then turns nght and 'Walksh lc:?t'
bR N B e A
: e wa ’
A 15 i 8 H‘ff respectively. How far is she now
ﬁ?} q o A ii“g' Tt L from her starting point ?
(1) zoﬁﬁjr?f —~ @ ISﬁz‘ﬂ (1) 20 km L(é;’éﬁ km
@) 10 @45 (3) 10 km _ km
62. A, C 1 far @ ofX D, B 7 @ E, 62. A is father of C and D is son of B. E
A W ¥ C,DH T el B E o prother ol A G is; gister of D
g SRR ! How is Brelatedto E?
OOREl 2) EA/AH (1) Daughter (2Y Sister-in-law
(3) A (4) : - (8) Mother 4) Husband
63, g @@ P, QR S, AR T 4% &M 63. Five men P, Q, R, Sand T read a
e o S R gasEd gedl % @®R newspaper. The one who reads
FT[ME A ﬁ?s@f feh ¥ ¥ firsi,1 glives hit dfo 11: ’i‘he o;LeTwho
'%P%aﬂ%l%@ﬁmww reasas.t, ad taken Irom r. was
&P A O N not the first or last to read. There
Iﬁ ?m il were two-readers between P and
Ik SIEQIE{H m% : Q. Who reads the newspaper last ?
(1) Q O @ R , 1) Q (2) R
@) S 4T 3 S 4T
64, afX 10 RERR, 2022 @ AR a 64. If it was Saturday on 10th
g Rg=x, 2024 a Pe-a1 & 2 ? December, 2022, what will be the
(1) gf¥ER ) TaEr day on 8th December, 2024 ?
(3) Gmar (4) HTEER (:1:,; Isvi‘;‘:lfaﬁf % iﬁndgv
; ay esday
65. U9 fafRe e A ﬁ "sun shines 65. In a certain code language "sun
bnghtly“__ﬂ?f "pa lo sul", "houses: shines brightly" is written as "ba lo
an?‘ bngh’fly lit) &l “kado ula ari sul", "houses are brightly lit" as
pa" &R "light-domes from sun" @l " A -
: kado ula ari ba" and "l
"dopi ku 1 nro" Frar 5 ight comes
om ot babtly” @ f‘agm l from sun" as "dopi kup lo nro".
o e 1 T T % 7 AAN: | . What code words are WEilien o
() sulba O (2) sullo 'sun’ and "brightly" respectively ¥
¥ | ; ¥ (1) sul, ba (2) sul,lo
(3) ba,lo (4) lo, ba 3 J
(3) ba,lo 4 lo, ba

[ Level-3 /5321 ]
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66. = ot A 9 oy e o S

MQNRO. JSKTL, GUHVI, DWEXF, ?
LY AYRZC

(@) AZCYC
) BYBYD ¢) BzCzD
N
8. FR tan 0 + sec ) = 4, T cos 0 H
W STl
pose 11
) =~ .
& () 17
15 17
W = Lk
3) % (4) T
68. 2880 H oot o Y 3 R A
@ e O e Reh T
Tiieq 7
(1) 2 () 3
a8y 4 4) 5

69. P I 45,000 59 ¥ uH FgEY

Q %m@?@wwoso,ooog;
TP WY G gom AR af & arg
T B S A 20 1 o |
ST T, fQ FF g g 7
(1) 39 I®  _(2y4 7% 9=
3) 5HE I (4) 6 AE AT

70. R A HEANW 3 : 2 : 5 B orgu F
@ TWRE R T et Tt oaw
a7 1862 F AT ¥ WA qR G

FUK T
1y 2) 14
A3) 21 (4) 35

71. 5,290 593 & R A B ok c 3
"”WWE&I&WM|A@TB%

OR #d B 2 W R Q@ R
[~

23
(C 0 U T o F quEr B
;xﬁ 920 (2) 900
(8) 880 (4) 850
[ Level-3/5321]
4 e
Lry

66.

61.

68.

69.

10.

Tk

Find the next term of the following
letter series : . :
MONRO, JSKTL, GUHVI, DWEXF, ?
(1) AYBZC (2) AZCYC
(3) BYBYD (4) BZCZD

Iftan 0 + sec 0 = 4, then the value

of cos () is equal to:

8
(1) L (2)

RN

15 .
] 4y  ——

3) T (4) 5

What is the smallest number by

which 2880 must be divided in

order to make it a perfect square ?

(1) 2 (2) 3

3) 4 (4) 5

P began a business with Rs. 45,000

and Q joined with Rs. 30,000 after

some time. If the profit at the end

of the year were divided among

them in the ratio 2 : 1, when did Q

join ? _

(1) after3 months (2) after 4 months

(3) after 5 months (4) after 6 months

If three numbers are in the ratio
3 . 2 : B such that the sum of their
squares is equal to 1862, the
middle number is equal to :

(1) 7 (2) 14z

3) 21 (4) 35

A, B and C together completed a
work for Rs. 5290. A and B

|
together did Et% of the whole work.

Amount received by C in Rs. is
equal to :

1) 920

(3) 880

(2) 900
(4) 850

—all
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14.

15.

A @ﬁﬁaauﬁrqrs%mﬁmmaz
' a@wamiﬁamaﬁ‘ﬂﬂﬁfmﬂ

(1) 2,000 (2) 4,000
(3) 6,000 (4) 8,000

wmaﬁaﬁﬁﬂ,mw
8 Ho, 9 WMo A 12 Ho Pl A

o & TR A & dee
7T AT B, T B

(1) 16 Ho (@) 17 Hio
3) 18 Hio (4) 19 o

Py Ao P OFTT TG 8
6 21 \ 48
(2o (2] A5
GS 78
=) .
X 127 [WJlas-
e 2) | —=keli s
G (p} . ¥
120 127
o2 ol
P q
a3 SR qEY H ST 748

I Y =g T 14 AW AR 3
el B o ¥ 3 wRY # AR

?

'

g R -
(1) 0258 (2) 0.5 W

76.

(3) 1.0 &l (4) 1.5 &I
X Wl @ g S F 1 : 2 @
e:rgmﬁ%wﬁih‘maﬁfﬁaﬁqm%:

1) 1:2 (2)1:\/5'
@) 1:242 . poo(d)didl

[Level-3/5321 ] %
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72, The difference between the
@ compound interest and simple
interest on a certain amount at 5%
per annum for 2 years is Rs, 18.
The principal amount ig equal to :
(1) 2o (2) 4,000
3) 6200 (48,000
73. The ®dius of a circular field,
© Whosga;rea is equal to the sum of
the area of the three circular fields
having radii 8 m, 9 m and 12 m
respectively, is equal to !
(1) 16 m 42y 17 m
(3) 18 m (4) 19 m

Té- Next term of the following series is :

= £ 45

{AG & .. (CKY (_E_q) -
ENTa s ] i ]
d : g ]

&l

75. The volume of the metallic
@  cylindrical pipe is 748 cm’. lts
length is 14 cm and its external
radius is 9 cm. The thickness of

pipe is equal to:

(1) 0.25 cm (2) 0.5 cm
\@/Igcm (4) 1.5 cm

76. The %rface areas of the two

sphex®k are in the ratio 1 : 2. The
ratio @their volumes is :

1) 1:2 @) 1:+2

3y 1:2/2 4) 1:4

- |  1PT0.

A
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2.9, 28, 7, 1286, 217, 344

{éyﬁ? (2) 65

(3) 91 (4) 118

L
(1) 2a%=3p? N2) 3a®=2p7
() &°=3b% |(4) p?_g,2
N

79, @ gty e
(1) T () T
(3) g9 (4) T

80. A,p,R,x,Yaﬂrzqasfrﬁaﬁé‘régq
&l Yaﬁrzmﬁ%aﬂwawp
St et gx § R, A 3 TRy g
R B p%ww\aﬂﬂ%%m
gAR? &
(1) X ey
@) Z a4) R

81.

82.

(1) THo o AqH
(Z)Eﬁo%og‘?ﬂ

(3) APl Sy

(4) faergads

EIRATT &l &1 a3 wom oreper
P g ? ol

(1) @R e o)

(2) 3RETT T

3 dm e ©

(4) T qog

[Level-3/5321] s

i

11,. Find the missing term in the
following number series :
2,9,28,7 126,217, 344

(1) 37 (2) 65
(3) 91 (4) 118

8. A square and an equilatery
é) triangle are inscribed in a circle, If

a and b denote the lengths of their
sides respectively, then which of
the following is true ?

(1) 2a®=3b% (2) 3a%=2p2

3) a®=3b% (47 b? =24

19. Line:Square:: Arc:?

(1) Ring (2) Sphere
ﬂ Circle (4) Ball

80. A, P, R, X, Y and Z are sitting in a
row. Y and Z are in the centre and
A and P are at the ends. R is sitting
on the immediate left of A. Who is
sitting on the immediate right of P ?

X @Y

) z (49) R

8l. Who among the following did nof
Serve as the Chief Secretary
during the Chief Ministership of
Manohar Lal Khattar ?

(1) s.c. Chaudhary

(2) P.K. Gupta ﬁﬁ

(3) Shakuntala Jakhy '
4 Vijay Vardhan

82. Who was the First Chairman of
Haryana Public Service Commission ?
(1) Dalbir Singh
[2) Darbari Lal Gupta
(3) Bhim Singh
(4) Manoj Pandey
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| g, PR A A AR o g

e
mﬂ“ﬂmm - far
(B) m—q—a%gt - TR
(C)ﬁﬁ%mﬁw - &k
[*-.
ws?@zmwoaaﬁq:

(1) &) T (C)
(2) (A) T4 (B)
(3) B) @ (C)
4) A), (B) T (C)

84, Prfifem & & I @ @
FEreg REfes wiedt § sERyd
®7 > 3
(1) ETREE AW
@) RrveEr AT
(3) O -TIaH AHIRE
(4) TR ARG

g5. a1 o & s) § e
FR AR
(&) g PR aRER TET

U qEE A S e am
(B)awﬁ‘q%a%aqgmﬁé’mﬁ%%
it F T AR SIS Al

QN
aﬁ@maﬂ{]‘aﬁﬁq
(1)%&6%@@%1
(2) a7 T (®) F9 B
@ 7 a@ #F (A) T & A (B)

Td Bl
4) A FEF A B

 [Level-3/5321] i
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83. Which of the following are
correctly matched ?

(R) Gujari Mahal - Hisar

(B) Aram-e-Kausar - Narnaul

(C) Tomb of Sheikh - Jind
Tayyab

Choose the correct code':

(1) (&) and (C)

(2) (A)and (B)

(3) (B) and (C) %
4 A), (B) and (C)

84. Which of the following wild life
sanctuaries is located in Shivalik
hights ?

(1) Khaparwas Sanctuary
M Bhindawas Sanctuary
(3) Khol Hi-Raitan Sanctuary
(4) Nahar Sanctuary
85. Read the following statements about

Pehowa Inscription :

(A) The inscription was issued by a
ruler of Gurjar Pratihar dynasty.

(B) As per the inscription, Pehowa
was a famous market of horse
dealers.

Choose the correct code :

(1) Only statement (A) is true.

(2) Only statement (B) is true.
(3) Neither statement (A) nor

_ statement (B) is true.
‘ \(j)/B/c;th the statements are true.

P.I40.

[\
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86, ﬁ?@‘;}?ﬁ%ﬁz&iﬁﬁwﬁﬁﬂﬁﬂ
DI/ P ITE
(Aw»ﬁ%qasﬁm%mﬂm
FRax # g A

® T % R e T A
wEEE &

©) ¥ sl demE A qER § @
o=

T8 HE T TEE AT

(1)%36{&3?1:1(‘3'{5_33&[(0)@ ¥

o
(@) P T (}éj T (C) T ¥

(3) 35w FUF (A) T B
(4) T (B), (B) T (C) T &

87. WRAW TN AR FEE  wWR
=i R o @ # 7
(1) Fies (2) T

(3) Rl @81 ov4) AR

88, PreiEd ¥ Acdr-ar Ber Jeaw
g9 & BE :fﬁ ®7
Q) =T L(2) g
(3) Prart (4) @S

89. 37% TS FRNGHE BRI AW
o € T A

of the following statem,‘.mﬁ
yram are correct?

his career as ,

g6. Which
about Sir Chot

(A) He pegan
Congress man:

(B) Later be joined Unionist Party.

(C)He was a Minister 11:1 the
government of Undivideg
Punjab. ‘

Choose the correct code :

(1) Only statement (B) & (C) are
correct. _

(2) Only statement (B) & (C) ar
correct.

(3) Only statement (A) is correct,

(4) statement (&), (B) & (C) are

( correct.

87. Where the Indian Institute of
Information Technology is being
set-up ?

(1) Kilohad (2) Baraut
\(3Y Pipali Khera (4) Rasulpura

88. Which of the following districts is
not part of Rohtak division ?
(1) Jhajjar (2) Sonipat
(3) Bhiwani _(A) Rewari

89. Which of the following was the
theme State for the 37th Surajkund

oy ma e o g
(2) PRI @) Rajastg\an
(3) AR o~ (3) Manipur @
4 P& o (4) Gujarat

90. faon # HT%HIQ’NWH Rt 2023 90. The woman wrestler of Haryana who
%l 31@7( g’(@ﬁl’(@'ﬁ e 7 received the Arjuna Award of 2023 7
(1) sifom gu (1) Antim Panghal
(2) #9 " (2) Anshu Malik
(3) Mo sgE (3) Geetika Jakhar
(4) arft At ~(4)"Sakshi Malik
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